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Abstract

Solving Hyperbolic equations with Homotopy analysis method

Batool Gharehdaghi

The Homotopy analysis method (HAM) proposed by Dr.shijun Liao in Y44Y, This method is
used to obtain approximate solution of a variety of functional equations in Basic Sciences and
engineering and other sciences. Homotopy analysis method distinguishes itself from the other
analytical methods in the following several aspects.The first distinction is more general than
other methods due to the fact that the Homotopy perturbation method and Adomian
decomposition method are a special case of Homotopy analysis method.Another distinction is
the method of controlling the convergence region.

This thesis is a comprehensive and effective approach Homotopy analysis method to solve a
variety of functional equations, are used to solve a set of partial differential equations known
as the Hyperbolic equations and the results obtained from this method is compared with the
Adomian decomposition method. For computations are performed by Maple VY.

Keywords: Homotopy analysis method , Hyperbolic equations , Adomian decomposition
method
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